RIEMANN $f(y) = 3x^2 + 4$ Left-hand sum 7 + 1 + 7 + (1.2) + 7 + (5) + 7 + (5.2) = f(1.5)+f(2)+f(2.5)+f(2 [f(i)+f(is)+f(a)+f(a.s)]7 + 10.75 + 16 + 22.75 | 2 [(0.75 + 16 + 22.75 + 3] = = [56.5] = 40.25 Units 28.25 units

DEFINITE INTEGRALS

$$\int_{-2}^{5} (4x+3) dx = \frac{1}{6} \frac{1}{1} \frac{1}{1}$$

UNDAMENTAL THEOREM CALCULUS Part 1 $\int_{0}^{3} (x+i) dx$ Area= 6 $=\frac{x_2}{x_3}+x$ Integration represents = 9/2+3+(1/2+1)=6 the area between a $\frac{b}{\sum} f(x) \cdot \Delta x = \int_{a}^{b} f(x) dx$ Curve and an axis. angle Sum of the rectangle = Area of rectargle $\int_{0}^{2} f(x) dx = 4 \text{ units}^{2}$ So fix) dx = 5.5 units2 So fix) dx=- fix) dx

$$\frac{\int dx}{\int x} \int_{1}^{x} \frac{(4t^{2}+t)}{3} dt = \frac{4t^{3}}{3} + \frac{t^{2}}{2} \Big|_{1}^{x+1}$$

$$\frac{d}{dx} \left[\frac{(x^{2}+1)^{3}}{3} \frac{(x^{2}+1)^{2}}{2} - \frac{(4+1)}{3} \right] = 4x^{2} + x$$

$$\frac{d}{dx} \int_{6}^{x} \frac{\sin^{8}(3t^{2}-1)}{\ln 8t^{4}} dt = \frac{\sin^{8}(3x^{2}-1)}{\ln 8t^{4}}$$

$$\frac{d}{dx} \int_{2}^{x^{4}} \frac{4}{\sqrt{t^{3}+2}} dt = \frac{4}{\sqrt{(x^{4})^{3}+2}} \cdot 4x^{3} = \frac{16x^{3}}{\sqrt{x^{12}+2}}$$

$$\frac{d}{dx} \int_{X^{4}}^{3x^{7}} \frac{2t}{t+1} dt$$

$$\frac{2(3x^{7})}{3x^{7}+1} \cdot 2tx^{6} - \frac{2x^{4}}{x^{4}+1} \cdot 4x^{3}$$

$$\frac{d}{dx} \int_{\#}^{g(x)} f(t) dt = f(g(x)) \cdot g'(x)$$

$$\frac{d}{dx} \int_{g(x)}^{h(x)} f(t) dt = f(h(x) \cdot h(x) - f(g(x)) \cdot g'(x)$$